## Research Article

# Power Increasing Sequences and Their Some New Applications 

Hüseyin Bor

P.O. Box 121, Bahçelievler, 06502 Ankara, Turkey

Correspondence should be addressed to Hüseyin Bor, hbor33@gmail.com
Received 10 August 2012; Revised 29 August 2012; Accepted 12 September 2012
Academic Editor: Toka Diagana
Copyright © 2012 Hüseyin Bor. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

In the work of Bor (2008), we have proved a result dealing with $\left|\bar{N}, p_{n}, \theta_{n}\right|_{k}$ summability factors by using a quasi- $\beta$-power increasing sequence. In this paper, we prove that result under less and more weaker conditions. Some new results have also been obtained.

## 1. Introduction

A positive sequence $\left(b_{n}\right)$ is said to be almost increasing if there exists a positive increasing sequence $\left(c_{n}\right)$ and two positive constants $A$ and $B$ such that $A c_{n} \leq b_{n} \leq B c_{n}$ (see [1]). We write $B \mathcal{U}_{\mathcal{O}}=\boldsymbol{B U} \cap \mathcal{C}_{\mathcal{O}}$, where $\mathcal{C}_{\mathcal{O}}=\left\{x=\left(x_{k}\right) \in \Omega: \lim _{k}\left|x_{k}\right|=0\right\}, \mathbb{B} \mathcal{U}=\left\{x=\left(x_{k}\right) \in \Omega: \sum_{k}\left|x_{k}-x_{k+1}\right|<\right.$ $\infty\}$ and $\Omega$ being the space of all real or complex-valued sequences. A positive sequence $X=$ $\left(X_{n}\right)$ is said to be a quasi- $\beta$-power increasing sequence if there exists a constant $K=K(\beta, X) \geq$ 1 such that $K n^{\beta} X_{n} \geq m^{\beta} X_{m}$ holds for all $n \geq m \geq 1$. It should be noted that every almost increasing sequence is a quasi- $\beta$-power increasing sequence for any nonnegative $\beta$, but the converse is not true for $\beta>0$. Moreover, for any positive $\beta$ there exists a quasi- $\beta$-power increasing sequence tending to infinity, but it is not almost increasing (see [2]). Let $\sum a_{n}$ be a given infinite series with partial sums $\left(s_{n}\right)$. Let $\left(p_{n}\right)$ be a sequence of positive numbers such that

$$
\begin{equation*}
P_{n}=\sum_{v=0}^{n} p_{v} \longrightarrow \infty \quad \text { as } n \longrightarrow \infty, \quad\left(P_{-i}=p_{-i}=0, i \geq 1\right) . \tag{1.1}
\end{equation*}
$$

Let $\left(\theta_{n}\right)$ be any sequence of positive real constants. The series $\sum a_{n}$ is said to be summable $\left|\bar{N}, p_{n}\right|_{k}, k \geq 1$, if (see [3])

$$
\begin{equation*}
\sum_{n=1}^{\infty}\left(\frac{P_{n}}{p_{n}}\right)^{k-1}\left|V_{n}-V_{n-1}\right|^{k}<\infty, \tag{1.2}
\end{equation*}
$$

and it is said to be summable $\left|\bar{N}, p_{n}, \theta_{n}\right|_{k}, k \geq 1$, if (see [4])

$$
\begin{equation*}
\sum_{n=1}^{\infty} \theta_{n}^{k-1}\left|V_{n}-V_{n-1}\right|^{k}<\infty \tag{1.3}
\end{equation*}
$$

where

$$
\begin{equation*}
V_{n}=\frac{1}{P_{n}} \sum_{v=0}^{n} p_{v} s_{v} \tag{1.4}
\end{equation*}
$$

If we take $\theta_{n}=P_{n} / p_{n}$, then $\left|\bar{N}, p_{n}, \theta_{n}\right|_{k}$ summability reduces to $\left|\bar{N}, p_{n}\right|_{k}$ summability. Also if we take $\theta_{n}=n$ and $p_{n}=1$ for all values of $n$, then we get $|C, 1|_{k}$ summability (see [5]). Furthermore, if we take $\theta_{n}=n$, then $\left|\bar{N}, p_{n}, \theta_{n}\right|_{k}$ summability reduces to $\left|R, p_{n}\right|_{k}$ summability (see [6]).

## 2. Known Result

In [7], we have proved the following theorem dealing with $\left|\bar{N}, p_{n}, \theta_{n}\right|_{k}$ summability factors of infinite series.

Theorem 2.1. Let $\left(\lambda_{n}\right) \in \mathcal{B U}_{\mathcal{O}},\left(X_{n}\right)$ be a quasi- $\beta$-power increasing sequence for some $\beta(0<\beta<1)$, and let $\left(\theta_{n} p_{n} / P_{n}\right)$ be a nonincreasing sequence. Suppose also there exists sequences $\left(\lambda_{n}\right)$ and $\left(p_{n}\right)$ such that

$$
\begin{gather*}
\left|\lambda_{m}\right| X_{m}=O(1) \quad \text { as } m \longrightarrow \infty \\
\sum_{n=1}^{m} n X_{n}\left|\Delta^{2} \lambda_{n}\right|=O(1)  \tag{2.1}\\
\sum_{n=1}^{m} \frac{P_{n}}{n}=O\left(P_{m}\right) \quad \text { as } m \longrightarrow \infty
\end{gather*}
$$

If

$$
\begin{gather*}
\sum_{n=1}^{m} \frac{\left|t_{n}\right|^{k}}{n}=O\left(X_{m}\right) \quad \text { as } m \longrightarrow \infty  \tag{2.2}\\
\sum_{n=1}^{m} \theta_{n}^{k-1}\left(\frac{p_{n}}{P_{n}}\right)^{k}\left|t_{n}\right|^{k}=O\left(X_{m}\right) \quad \text { as } m \longrightarrow \infty \tag{2.3}
\end{gather*}
$$

are satisfied, then the series $\sum a_{n} \lambda_{n}$ is summable $\left|\bar{N}, p_{n}, \theta_{n}\right|_{k}, k \geq 1$, where $\left(t_{n}\right)$ is the $n$th $(C, 1)$ mean of the sequence $\left(n a_{n}\right)$.
Remark 2.2. It should be noticed that, if we take $\left(X_{n}\right)$ as an almost increasing sequence and $\theta_{n}=P_{n} / p_{n}$, then we obtain a theorem of Mazhar (see [8]), in this case the condition " $\left(\lambda_{n}\right) \in$ $B V_{\mathcal{O}}{ }^{\prime \prime}$ is not needed.

## 3. The Main Result

The aim of this paper is to prove Theorem 2.1 under less and more weaker conditions. Now, we prove the following theorem.

Theorem 3.1. Let $\left(X_{n}\right)$ be a quasi- $\beta$-power increasing sequence for some $\beta(0<\beta<1)$, and let $\left(\theta_{n} p_{n} / P_{n}\right)$ be a nonincreasing sequence. Suppose also there exists sequences $\left(\lambda_{n}\right)$ and $\left(p_{n}\right)$ such that conditions (2.1) of Theorem 2.1 are satisfied. If

$$
\begin{gather*}
\sum_{n=1}^{m} \frac{\left|t_{n}\right|^{k}}{n X_{n}^{k-1}}=O\left(X_{m}\right) \quad \text { as } m \longrightarrow \infty,  \tag{3.1}\\
\sum_{n=1}^{m} \theta_{n}^{k-1}\left(\frac{p_{n}}{P_{n}}\right)^{k} \frac{\left|t_{n}\right|^{k}}{X_{n}^{k-1}}=O\left(X_{m}\right) \quad \text { as } m \longrightarrow \infty \tag{3.2}
\end{gather*}
$$

are satisfied, then the series $\sum a_{n} \lambda_{n}$ is summable $\left|\bar{N}, p_{n}, \theta_{n}\right|_{k}, k \geq 1$.
Remark 3.2. It should be noted that conditions (3.1) and (3.2) are the same as conditions (2.2) and (2.3), respectively, when $k=1$. When $k>1$, conditions (3.1) and (3.2) are weaker than conditions (2.2) and (2.3), respectively. But the converses are not true. In fact, if (2.2) is satisfied, then we get that

$$
\begin{equation*}
\sum_{n=1}^{m} \frac{\left|t_{n}\right|^{k}}{n X_{n}^{k-1}}=O\left(\frac{1}{X_{1}^{k-1}}\right) \sum_{n=1}^{m} \frac{\left|t_{n}\right|^{k}}{n}=O\left(X_{m}\right) \tag{3.3}
\end{equation*}
$$

If (3.1) is satisfied, then for $k>1$, we obtain that

$$
\begin{equation*}
\sum_{n=1}^{m} \frac{\left|t_{n}\right|^{k}}{n}=\sum_{n=1}^{m} X_{n}^{k-1} \frac{\left|t_{n}\right|^{k}}{n X_{n}^{k-1}}=O\left(X_{m}^{k-1}\right) \sum_{n=1}^{m} \frac{\left|t_{n}\right|^{k}}{n X_{n}^{k-1}}=O\left(X_{m}^{k}\right) \neq O\left(X_{m}\right) \tag{3.4}
\end{equation*}
$$

The similar argument is also valid for the conditions (2.3) and (3.2). Also it should be noted that condition " $\left(\lambda_{n}\right) \in 乃 \mathcal{U}_{\mathcal{O}}$ " has been removed.

We need following lemma for the proof of our theorem.
Lemma 3.3 (see [9]). Under the conditions on the sequences $\left(X_{n}\right)$ and $\left(\lambda_{n}\right)$ as expressed in the statement of the theorem, one has the following:

$$
\begin{gather*}
n X_{n}\left|\Delta \lambda_{n}\right|=O(1) \\
\sum_{n=1}^{\infty} X_{n}\left|\Delta \lambda_{n}\right|<\infty \tag{3.5}
\end{gather*}
$$

## 4. Proof of the Theorem

Let $\left(T_{n}\right)$ denote the $\left(\bar{N}, p_{n}\right)$ mean of the series $\sum a_{n} \lambda_{n}$. Then, for $n \geq 1$, we have

$$
\begin{equation*}
T_{n}-T_{n-1}=\frac{p_{n}}{P_{n} P_{n-1}} \sum_{v=1}^{n} P_{v-1} a_{v} \lambda_{v}=\frac{p_{n}}{P_{n} P_{n-1}} \sum_{v=1}^{n} \frac{P_{v-1} \lambda_{v}}{v} v a_{v} \tag{4.1}
\end{equation*}
$$

By Abel's transformation, we have

$$
\begin{align*}
T_{n}-T_{n-1}= & \frac{n+1}{n P_{n}} p_{n} t_{n} \lambda_{n}-\frac{p_{n}}{P_{n} P_{n-1}} \sum_{v=1}^{n-1} p_{v} t_{v} \lambda_{v} \frac{v+1}{v}+\frac{p_{n}}{P_{n} P_{n-1}} \sum_{v=1}^{n-1} P_{v} \Delta \lambda_{v} t_{v} \frac{v+1}{v} \\
& +\frac{p_{n}}{P_{n} P_{n-1}} \sum_{v=1}^{n-1} P_{v} t_{v} \lambda_{v+1} \frac{1}{v}=T_{n, 1}+T_{n, 2}+T_{n, 3}+T_{n, 4} . \tag{4.2}
\end{align*}
$$

To complete the proof of the theorem, by Minkowski's inequality, it is enough to show that

$$
\begin{equation*}
\sum_{n=1}^{\infty} \theta_{n}^{k-1}\left|T_{n, r}\right|^{k}<\infty, \quad \text { for } r=1,2,3,4 \tag{4.3}
\end{equation*}
$$

Firstly, we have that

$$
\begin{align*}
\sum_{n=1}^{m} \theta_{n}^{k-1}\left|T_{n, 1}\right|^{k} & =\sum_{n=1}^{m} \theta_{n}^{k-1}\left|\lambda_{n}\right|^{k-1}\left|\lambda_{n}\right|\left(\frac{p_{n}}{P_{n}}\right)^{k}\left|t_{n}\right|^{k} \\
& =O(1) \sum_{n=1}^{m}\left|\lambda_{n}\right| \theta_{n}^{k-1}\left(\frac{1}{X_{v}}\right)^{k-1}\left(\frac{p_{n}}{P_{n}}\right)^{k}\left|t_{n}\right|^{k} \\
& =O(1) \sum_{n=1}^{m-1} \Delta\left|\lambda_{n}\right| \sum_{v=1}^{n} \theta_{v}^{k-1}\left(\frac{p_{v}}{P_{v}}\right)^{k} \frac{\left|t_{v}\right|^{k}}{X_{v}^{k-1}}+O(1)\left|\lambda_{m}\right| \sum_{n=1}^{m} \theta_{n}^{k-1}\left(\frac{p_{n}}{P_{n}}\right)^{k} \frac{\left|t_{n}\right|^{k}}{X_{n}^{k-1}}  \tag{4.4}\\
& =O(1) \sum_{n=1}^{m-1}\left|\Delta \lambda_{n}\right| X_{n}+O(1)\left|\lambda_{m}\right| X_{m} \\
& =O(1) \quad \text { as } m \longrightarrow \infty,
\end{align*}
$$

by virtue of the hypotheses of the theorem and lemma. Now, when $k>1$ applying Hölder's inequality with indices $k$ and $k^{\prime}$, where $(1 / k)+\left(1 / k^{\prime}\right)=1$, as in $T_{n, 1}$, we have that

$$
\begin{align*}
\sum_{n=2}^{m+1} \theta_{n}^{k-1}\left|T_{n, 2}\right|^{k} & =O(1) \sum_{n=2}^{m+1} \theta_{n}^{k-1}\left(\frac{p_{n}}{P_{n}}\right)^{k} \frac{1}{P_{n-1}}\left\{\sum_{v=1}^{n-1} p_{v}\left|\lambda_{v}\right|^{k}\left|t_{v}\right|^{k}\right\} \times\left\{\frac{1}{P_{n-1}} \sum_{v=1}^{n-1} p_{v}\right\}^{k-1} \\
& =O(1) \sum_{v=1}^{m} p_{v}\left|\lambda_{v}\right|^{k-1}\left|\lambda_{v}\right|\left|t_{v}\right|^{k} \sum_{n=v+1}^{m+1}\left(\frac{\theta_{n} p_{n}}{P_{n}}\right)^{k-1} \frac{p_{n}}{P_{n} P_{n-1}} \\
& =O(1) \sum_{v=1}^{m}\left(\frac{\theta_{v} p_{v}}{P_{v}}\right)^{k-1} p_{v}\left|t_{v}\right|^{k}\left|\lambda_{v}\right|\left(\frac{1}{X_{v}}\right)^{k-1} \sum_{n=v+1}^{m+1} \frac{p_{n}}{P_{n} P_{n-1}}  \tag{4.5}\\
& =O(1) \sum_{v=1}^{m} \theta_{v}^{k-1}\left(\frac{p_{v}}{P_{v}}\right)^{k}\left|\lambda_{v}\right|\left(\frac{1}{X_{v}}\right)^{k-1}\left|t_{v}\right|^{k} \\
& =O(1) \sum_{v=1}^{m}\left|\lambda_{v}\right| \theta_{v}^{k-1}\left(\frac{p_{v}}{P_{v}}\right)^{k} \frac{\left|t_{v}\right|^{k}}{X_{v}^{k-1}}=O(1) \quad \text { as } m \longrightarrow \infty .
\end{align*}
$$

Again we have that

$$
\begin{aligned}
\sum_{n=2}^{m+1} \theta_{n}^{k-1}\left|T_{n, 3}\right|^{k}= & O(1) \sum_{n=2}^{m+1} \theta_{n}^{k-1}\left(\frac{p_{n}}{P_{n}}\right)^{k} \frac{1}{P_{n-1}}\left\{\sum_{v=1}^{n-1} \frac{P_{v}}{v}\left|\Delta \lambda_{v}\right|^{k} v^{k}\left|t_{v}\right|^{k}\right\} \times\left\{\frac{1}{P_{n-1}} \sum_{v=1}^{n-1} \frac{P_{v}}{v}\right\}^{k-1} \\
= & O(1) \sum_{v=1}^{m} \frac{P_{v}}{v}\left|t_{v}\right|^{k} v^{k}\left|\Delta \lambda_{v}\right|^{k-1}\left|\Delta \lambda_{v}\right| \sum_{n=v+1}^{m+1}\left(\frac{\theta_{n} p_{n}}{P_{n}}\right)^{k-1} \frac{p_{n}}{P_{n} P_{n-1}} \\
= & O(1) \sum_{v=1}^{m}\left(\frac{\theta_{v} p_{v}}{P_{v}}\right)^{k-1} v^{k-1}\left(\frac{1}{v X_{v}}\right)^{k-1}\left|\Delta \lambda_{v}\right|\left|t_{v}\right|^{k} \\
= & O(1)\left(\frac{\theta_{1} p_{1}}{P_{1}}\right)^{k-1} \sum_{v=1}^{m} v\left|\Delta \lambda_{v}\right| \frac{\left|t_{v}\right|^{k}}{v X_{v}^{k-1}} \\
= & O(1) \sum_{v=1}^{m-1} \Delta\left(v\left|\Delta \lambda_{v}\right|\right) \sum_{i=1}^{v} \frac{\left|t_{i}\right|^{k}}{i X_{i}^{k-1}+O(1) m\left|\Delta \lambda_{m}\right| \sum_{v=1}^{m} \frac{\left|t_{v}\right|^{k}}{v X_{v}^{k-1}}} \\
= & O(1) \sum_{v=1}^{m-1}\left|\Delta\left(v\left|\Delta \lambda_{v}\right|\right)\right| X_{v}+O(1) m\left|\Delta \lambda_{m}\right| X_{m} \\
= & O(1) \sum_{v=1}^{m-1}|(v+1)| \Delta^{2} \lambda_{v}\left|-\left|\Delta \lambda_{v}\right|\right| X_{v}+O(1) m\left|\Delta \lambda_{m}\right| X_{m} \\
= & O(1) \sum_{v=1}^{m-1} v\left|\Delta^{2} \lambda_{v}\right| X_{v}+O(1) \sum_{v=1}^{m-1}\left|\Delta \lambda_{v}\right| X_{v} \\
& +O(1) m\left|\Delta \lambda_{m}\right| X_{m}=O(1) \text { as } m \longrightarrow \infty
\end{aligned}
$$

by virtue of the hypotheses of the theorem and lemma. Finally, we have that

$$
\begin{align*}
\sum_{n=2}^{m+1} \theta_{n}^{k-1}\left|T_{n, 4}\right|^{k} & \leq \sum_{n=2}^{m+1} \theta_{n}^{k-1}\left(\frac{p_{n}}{P_{n}}\right)^{k} \frac{1}{P_{n-1}} \sum_{v=1}^{n-1} P_{v}\left|\lambda_{v+1}\right|^{k}\left|t_{v}\right|^{k} \frac{1}{v} \times\left\{\frac{1}{P_{n-1}} \sum_{v=1}^{n-1} \frac{P_{v}}{v}\right\}^{k-1} \\
& =O(1) \sum_{v=1}^{m} P_{v}\left|\lambda_{v+1}\right|^{k-1}\left|\lambda_{v+1}\right|\left|t_{v}\right|^{k} \frac{1}{v} \sum_{n=v+1}^{m+1}\left(\frac{\theta_{n} p_{n}}{P_{n}}\right)^{k-1} \frac{p_{n}}{P_{n} P_{n-1}} \\
& =O(1) \sum_{v=1}^{m} P_{v}\left(\frac{1}{X_{v}}\right)^{k-1}\left|\lambda_{v+1}\right|\left|t_{v}\right|^{k} \frac{1}{v} \sum_{n=v+1}^{m+1}\left(\frac{\theta_{n} p_{n}}{P_{n}}\right)^{k-1} \frac{p_{n}}{P_{n} P_{n-1}} \\
& =O(1) \sum_{v=1}^{m}\left|\lambda_{v+1}\right|\left(\frac{\theta_{v} p_{v}}{P_{v}}\right)^{k-1} \frac{\left|t_{v}\right|^{k}}{v X_{v}^{k-1}}  \tag{4.7}\\
& =O(1)\left(\frac{\theta_{1} p_{1}}{P_{1}}\right)^{k-1} \sum_{v=1}^{m}\left|\lambda_{v+1}\right| \frac{\left|t_{v}\right|^{k}}{v X_{v}^{k-1}} \\
& =O(1) \sum_{v=1}^{m-1} \Delta\left|\lambda_{v+1}\right| \sum_{r=1}^{v} \frac{\left|t_{r}\right|^{k}}{r X_{r}^{k-1}}+O(1)\left|\lambda_{m+1}\right| \sum_{v=1}^{m} \frac{\left|t_{v}\right|^{k}}{v X_{v}^{k-1}} \\
& =O(1) \sum_{v=1}^{m-1}\left|\Delta \lambda_{v+1}\right| X_{v+1}+O(1)\left|\lambda_{m+1}\right| X_{m+1} \\
& =O(1) \text { as } m \longrightarrow \infty
\end{align*}
$$

by virtue of the hypotheses of the theorem and lemma. This completes the proof of the theorem. If we take $p_{n}=1$ for all values of $n$ and $\theta_{n}=n$, then we get a result dealing with $|C, 1|_{k}$ summability factors. Also, if we take $p_{n}=1$ for all values of $n$, then we have a new result for $\left|C, 1, \theta_{n}\right|_{k}$ summability. Finally, if we take $\theta_{n}=n$, then we have another new result for $\left|R, p_{n}\right|_{k}$ summability factors.

## References

[1] N. K. Bari and S. B. Stečkin, "Best approximations and differential properties of two conjugate functions," Trudy Moskovskogo Matematičeskogo Obščestva, vol. 5, pp. 483-522, 1956 (Russian).
[2] L. Leindler, "A new application of quasi power increasing sequences," Publicationes Mathematicae Debrecen, vol. 58, no. 4, pp. 791-796, 2001.
[3] H. Bor, "On two summability methods," Mathematical Proceedings of the Cambridge Philosophical Society, vol. 97, no. 1, pp. 147-149, 1985.
[4] W. T. Sulaiman, "On some summability factors of infinite series," Proceedings of the American Mathematical Society, vol. 115, no. 2, pp. 313-317, 1992.
[5] T. M. Flett, "On an extension of absolute summability and some theorems of Littlewood and Paley," Proceedings of the London Mathematical Society, vol. 7, pp. 113-141, 1957.
[6] H. Bor, "On the relative strength of two absolute summability methods," Proceedings of the American Mathematical Society, vol. 113, no. 4, pp. 1009-1012, 1991.
[7] H. Bor, "On some new applications of power increasing sequences," Comptes Rendus Mathématique. Académie des Sciences. Paris, vol. 346, no. 7-8, pp. 391-394, 2008.
[8] S. M. Mazhar, "Absolute summability factors of infinite series," Kyungpook Mathematical Journal, vol. 39, no. 1, pp. 67-73, 1999.
[9] H. Bor, "A study on weighted mean summability," Rendiconti del Circolo Matematico di Palermo. Serie II, vol. 56, no. 2, pp. 198-206, 2007.

